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for the questions

SECTION—A
( Inorganic Chemistry )
( Marks : 27)

1. o5 e Afd Sfersar - 1x5=5

Choose the correct answer :

(a)mﬁma%m@ﬁim@wq
ST T

'24P/1307 ( Turn Over )



(2] o (3)

The comon o:ndat?on state 9f all the ‘ (i) SH
elements in lanthanide group is
oxalate
i) +2 R
4 (iii) EDTA
(@) +3 o
(lll) +4 . (lv) W’N
Nitrite-N

(iv) +2 SF +4 FCAH!

~9th +2 and +4
— (d) Ko[Pt(NCS)g]® P ®RT RN X'I

@) [Ti (H20)6]3+ TS, Tiv TN P! ' IT{hePt O}éldatl(.)n number of Pt in
. 2[Pt(NCS)g] is
= :
: 3+ . i) 2
In [TiH,0)6]°" complex, the electronic o .
configuration of Ti is (i) 4”7
@) d | (i) 3
(i) d? _ (iv) 6
(i) d3
) & (e) ==TS i O S IR 2
Which of the following ions is colourless?
(c) o1 ! fand forsne =q 2 - (i) Sc2*
Which of the following is a bidentate (i) Zn2*
ligand?
.o .3
() GrRRE T LU
Triphenyl phosphine (iv) Fe3*
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4
(4) L8}

UNIT—I
(c) [Crlox);]3~ SFFR MR Reea SRAwAl

2. O AT R e bR tew fw : 2x3=6 Al 2
| ) '- Discuss the isomerism shown by
Answer any three of the following questions : [Cr(ox)3]3" ) .

(@ Frme bR R IPfere R 2 < TEEE (@) IR TEET AR SRS NI AR 2
e Bt o 1+1=2 Discuss briefly about spectrochemical
What do you mean by denticity of a series.
lige— Give example of a hexadentate P ‘
lige—: 3. o AT R @ Pr et fm | 2x2=4

%/ Or Answer any two of the following Ques;iqns :
o1 IAXTECHE P wF BT HiReerts finet (o) cooam B e R 7 2 TR B R T
W & I o | 1+1=2 o R 1+1=2
) What do you mean by Latimer diagram?
Wntt.: the name and formula of Mention two applications of this
a bidentate ligand and a tridentate diagram.
ligand. _ _
(b) Zn, Cd WF Hgd QIR Ry 3®RF? €]
| YA Reupt forn 1+1=2
(b) o fURAA IUPAC R PR o ot Why do the complexes of Zn, Cd and Hg
1x2=2 are colourless? Write the electronic
Write the IUPAC names of the following : configuration of Cr.
(i) [CoCly(en),]Cl (c) CRET AR EPERT T wF pIoN of
. 8 =2
(i) K4[Fe(CN] - oS <% GBre o | 1+1
' Write a note on the colour and magnetic
properties of lanthanides.
24P/1307 " (Continued )
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UNIT—II

4. S 2R R @ PR Tey o 3x2=6

Answer any two of the following questions :

(a) QST AN T TS [Ni(CN), |27 o5 8
PN of | w40 3

Explain the structure and mégnetic
proverty of [Ni(CN)4J?~ in the light of
v—=—=ce bond theory.

(b) T NS AF YS! I
2 Suremer @ grem : 1%+1%=3

What are ionization isomerism and
hydrate isomerism? Explain with
examples.

(c) o1 ful Fe MIRT TS forar : 1x3=3

Write down the formuta of the following
coordination complexes :

(i) croamiR «f¥m’ '35 (1) weiees
Pentaamine azido cobalt (III) sulphate

(i) CIFST SH'FS (IV) S

Tetrafluoro oxochromate (IV) ion

(i) croeiz RS’ FfAW (1) &3z

Pentaamine bromido chromium (III)
chloride

24P/1307 ( Continued )
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UNIT—III

Answer any two of the following questions :

(@) 87 cva R@ R (CFSE) et R
W7 ToR RPN fFCBA (WA AR CFSE

Tferea '1+2=3

What do you mean by crystal field
stabilization energy (CFSE))? Calculate
CFSE for the following octahedral crystal
fields :

i) a3

(i) d°, high-spin

(b) fRE7 wa TR TEES [Mn(H,0)]%*
MR 58 SF FF R 4 A 37 |

Discuss the structure and magnetic
property of [Mn(H,0)¢]2* in the light of
crystal field theory.

(c) WH-GoR RpfR esm® b1 55 Gt forsn |

Write a note on Jahn-Teller distortion.

3x2=6
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SECTION—B
( Physical Chemistry )
( Marks : 26)

6. % Teh M Sfe :
Choose the correct answer :
(a) I GO TS | S O 7
The unit ‘poise’ is associated with the
——:rty of the liquid is
)P
surface tension

(i) eS|
viscosity

(i) I=AT oA
vapour pressure

(iv) 7 abi8 W
None of the above

(b) AMW-TFR RFTR A 77 G A

The unit of the rate constant of the first-
order reaction is

(i) molL!

(i) molL!s!

(i) s~

(iv) €*RI 18 T
None of the above

1x3=3

7. TR PR R @ RRvR ey fiar -
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(9)

(c) S ORI @R INT o (IO % ?

Which of the following expressions is
correct for most probable velocity?

) 3RT

() ‘/—

(i) M

(i) oma @ vm
None of the above

Answer any three of the following questions :

(a) <F T'H (A I OF TR TAEEA SRIFATH!

11 a 9% b FTF IR Fran 1+1=2

Write the van der Waals’ equation for
one mole of gas. Write the units of the
constants a and b.

(b) STHS BMIT & U1 AFIRC o1

el Ry 31 SigRw Tm R 2 1+1=2

Define coefficient of viscosity. What is
the name of the apparatus used to
determine the viscosity of a liquid in
laboratory?

2x3=6
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(11 ).

(10 )
) Deduce the integrated rate equation for
(0 @ww @fd eome o & Gt forar | 2 a first-order reaction. Give one example
Write a short note on Frenkel defect. : of first-order reaction.
(d) RRAR o%-Seerm ke | oew-a (e) Rfeam T Rfew b1 or=fS 3o 11 . 3

R I3 o4 -QiewerR aer@f o1 1+1=2 Describe a method of determining order

Define half-life period of a reaction. of a reaction.

Write the expression for half-life period

of a first-order reaction. 9. wo¥ IR R @ @bR Teq fa - 5
Answer any one of the following questions :
8. W —RT R I BRGR Tew faa 3x4=12 (@) () T%e A QR 7 7 oo TSNS I
Answer any four of the following questions : TR T 2
Viscosity of a gas increases with
(@) "'j‘:‘m @b SN @O A @b oS ’ increase in temperature. Explain.
1 911 3 . -
i e @ | 3
Describe a method of determining ) ® W S 5& m Fra
surface tension of a liquid in laboratory. Write a short note on liquid crystal.
(b) TS T& % S A | WA SRS Tt T (b) (i) IR *BORT S THOR FSR AT | 2
SwoR doRe RI@ frat1 1+2=3 Write the effect of temperature on the

‘ surface tension of a liquid.
Define mean free path. Discuss the effect acete w

of pressure and temperature on it. (i) S TR FEEI FANFINW [/ FOF FIF9
SFPRI oot 31 | 3
(c) 3R FRNFIROT Soroirmy 31 1 - 3 Deduce the expression for critical
Deduce Bragg’s equation. constants from van der Waals’
equation.
(d) #UN-Z91 R T wpee afS N * kK
ool 91 | BT eruw-aw i T R o
2+1=3 4 SEM TDC GECH/CHMN (CBCS)
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